Chapter 15 – Practice Questions



1.
The labor force

a.
equals the number of people employed.

b.
equals the number of people employed plus the number of people unemployed.

c.
equals the non-institutionalized adult population.

d.
equals the number of people employed plus the number of people cyclically unemployed.


2.
Which of the following would be counted as unemployed according to official statistics?

a.
George, a full-time student who is not looking for work

b.
Jenna, who is on temporary layoff

c.
Larry, who has retired and is not looking for work

d.
All of the above would be counted as unemployed.

Labor Stats

The Labor Market

This table shows the 2003 data for males and females ages 16 and over in the imaginary country of Meditor.

	1. Not in labor force

	
	a. male: 45 million

	
	b. female: 35 million

	2. Unemployed

	
	a. male: 5 million

	
	b. female: 5 million

	3. Employed

	
	a. male: 85 million

	
	b. female: 65 million



3.
Refer to Labor Stats. What is the adult labor force in Meditor?

a.
90 million

b.
150 million

c.
160 million

d.
240 million


4.
Refer to Labor Stats. What is the adult unemployment rate in Meditor?

a.
4.12%

b.
6.25%

c.
11.11%

d.
12.50%


5.
Refer to Labor Stats. What is the adult labor-force participation rate in Meditor?

a.
4.12%

b.
12.50%

c.
37.50%

d.
66.67%


6.
Some persons are counted as out of the labor force because they have made no serious or recent effort to look for work. However, some of these individuals may want to work even though they are too discouraged to make a serious effort to look for work. If these individuals were counted as unemployed instead of out of the labor force,

a.
both the unemployment rate and labor-force participation rate would be higher.

b.
the unemployment rate would be higher and the labor-force participation rate would be lower.

c.
the unemployment rate would be lower and the labor-force participation rate would be higher.

d.
None of the above is correct.


7.
Which of the following is correct?

a.
Short-term unemployment is a more serious problem than long-term unemployment.

b.
Most spells of unemployment are long term.

c.
Most of the currently unemployed have been unemployed a long time.

d.
None of the above is correct.


8.
Efficiency wages

a.
offset the effects of unions on the unemployment rate.

b.
reduce the natural rate of unemployment.

c.
reduce the incentive to shirk.

d.
increase worker turnover.


9.
People who are unemployed because of job search are best classified as

a.
cyclically unemployed.

b.
structurally unemployed.

c.
frictionally unemployed.

d.
discouraged workers.


10.
When a union bargains successfully with an employer, in that industry

a.
unemployment and wages increase.

b.
unemployment and wages decrease.

c.
unemployment decreases and wages increase.

d.
unemployment increases and wages decrease.

ANSWERS:
1=B, 2=B, 3=C, 4=B, 5=D, 6=A, 7=C, 8=C, 9=C, 10=A

